5F35%E12 B 278 (BER)

R RENFEHIS (A15) 2B B #H

Frx EISEfA%E: 3089 b+
(ERISHERESD)
fnfh &h EEHh ENFE = (ke) F oy b tExIER 5|
AH Y5 axt Hfike) | 2EEA) | ®EEAE) | REM) | SEME) | £EME) | REME)
130100 |[7ZLNC A # 28,575
FE 2,000 0 2,000 10 1,080 864
£E 4,550 1,250 3,300 5 2,592 1,620 2,592 432
®me 15,125 1,190 13,935 10 1,080 156 1,080 432
G 6,820 0 6,820 12 864 756
130340 [/ £ICA LA 3 18,270
FIE 4,000 300 3,700 10 972 1,404 540
Ri& 6,320 500 5,820 10 972 156 1,166 324
REAR 7,000 0 7,000 10 1,166 950
BRE 950 0 950 10 950
130400 [Z1FS5 Y 16,656
dtiEE 840 0 840 10 1,836
LS 15,050 5,290 9,760 10 Z 376 1, 404 3,024 1,566
BE 470 0 470 10 1,004
130600 |[LA A % 12,255
i L 160 0 160 5 3,672 972
3] 12,075 75 12,000 5 5,124 6,480 648
131100 [ 3 g 57,932
Ik 14,700 1,275 13,425 15 972 432 756 648
M5 7,500 0 7,500 15 1,858
4 13,155 9,690 3,465 15 918 540 1,080 648
EE 7,947 5,435 2,512 15 756 432 432 324
A 12,980 3,600 9,380 12 648 648
i L 1,650 1,650 0 15 756 648
131700 |Fr Y % 38,866
=50 26,910 8,490 18,420 10 756 378 864 324
£E 11,956 36 11,920 12 756 983 270
131800 [[F5NAE 3 3,831
£E 364 276 88 02 130 65 67
®me 980 20 960 [} Z. 808 3,240 540
P 2,025 0 2,025 o0.18 97 86
131910 [FHE 3 3,071
N 65 0 65 05 702 302
EE 48 3 45 05 302 302 270
il Ll 410 0 410 1 864 216




5F35%E12 B 278 (BER)

R RENFEHIS (A15) 2B B #H

Frx EISEfA%E: 3089 b+
(ERISHERESD)
fnfh &h EEHh ENFE = (ke) F oy b tExIER 5|
AH 2Y5E Ext Hfike) | 2EEA) | ®EEA) | REM) | SEME) | $EME) | REME)
E 718 25 693 5 Z,700 2,160 540
iR 1,360 0 1,360 10 2,916 2,700
= 20 0 20 05 162
131950 |B 42 a3 14,606
£E 486 210 276 3 1,944 1,080 1,944 702
B 2,630 995 1,635 3 1, 620 1,188 1,620 864
BR 1,860 0 1,860 3 1,404
BE 45 0 45 3 864 648
133400 |LAR ¥ 19,692
E351 1,120 0 1,120 10 1,728
£E 9,162 7,042 2,120 10 3. 564 864 3,564 1,944
®me 2,400 700 1,700 10 3,564 2,592 3,780 1,080
G 7,010 6,410 600 10 1,512 972 1,404
134100 [#A)1 3 13,565
EE 3,140 1,190 1,950 5 2,052 1,836 2,376 1,404
=l 190 0 190 5 1,620 756
IR 335 0 335 5 1,836 1,134
=E3 1,030 1,000 30 5 2,484 1,404 1,836 1,512
=5 8,080 3,900 4,180 5 Z, 268 1,674 2,376 1,620
134200 |E R a3 2,200
A¥L O 2,200 500 1,700 10 1, 620 1,998 1,620
134300 |#nF 3 4,575
EE 688 94 594 2 1,296 1,026 1,296 540
=5 2,404 354 2,050 0.3 119 108 97
& 1,483 47 1436/ 03 173 162 146
134400 [r<k a3 4,151
REAR 4,042 216 3,826 [] 1, 836 1, 404 2,160 756
134500 [E—<> 3 6,552
= 855 225 630[ 0.15 65 59 54
= 1% 5,127 626 4501 0.13 16 43 76 32
135100 [LNAVIF A % 154
=40 64 20 44 2 3,024 2,268 3,024 1,944
IR 90 20 70 2 1,296 1,512 1,080
135200 | B = a3 232
FFRL 222 34 188 /] 4, 860 1,944 5,400 1,080
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R RENFEHIS (A15) 2B B #H

B ETHME: 3089 b+
(ERISHERESD)
fnfh &h EEHh ENFE = (ke) F oy b tExIER 5|
AH 2Y5E Ext Hfike) | 2EEA) | ®EEA) | REM) | SEME) | $EME) | REME)
136100 |[MAL & #a 37,290
®me 155 0 155 5 2,538
N2 9,135 0 9,135 5 - - - 2,160 864
136200 [ E#5ZE 3 400
dtiEE 400 0 400 10 - - - 1,922
136210 [A—2 1> a3 9,990
dtiEE 9,990 2,600 7,390 10 Z 030 864 3,132 1,512
136300 B ¥ a3 4,560
IR 4,260 550 3,710 10 4,104 Z.700 4,320 1,620
BE 300 0 300 10 1,620
136600 |f=F1a= % 1,430
dtiEE 600 0 600 10 3,456 1,620
EE 830 830 0 10 3, 240 1,836
138100 [ LU =1F 3 7,156
£E 292 20 272 0.1 194 151 81
BE 5,958 30 5928 0.2 324 346 97
138500 |LHLE ¥ 2,927
R 2,900 358 2542 0.2 81 16 84 65
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PR REFETS (KI5) BEB#HK
#3412 B 278 (AEARD)

= ESEfAE: 1018 b
(gL HEREFST)
fnfh fnfh EEh ENFE = (ke) F oy b tExIER 5|
AH Y5 axt Hfike) | 2EEA) | ®EEAE) | REM) | SEME) | £EME) | REME)
240400 [ R4 BN A MDA ¥ 4010
L 3,860 0 3,860 10 - - - 2,484 540
240700 | @R M A A ¥ 61,333
EEIT 38,256 20,546 17,710 10 3. 132 1,134 4104 648
F 9,632 6,195 3,437 10 3,024 1,620 3,024 1,620
iR 13,445 5,571 7,844 10 3,780 2,484 3,780 648
242320 (33 —ILk % 5,247
F 5,247 3917 1,330 3 886
242830 [ S\CYAC ¥ 12,852
& 11,442 5,842 5,600 3 983
Lz 1,410 1,410 0 10 2,160
242850 | YA a3 7,768
=T 7,768 5,052 2,716 20 5. 400
246000 [LV\6T a3 9,411
£E 13 13 of 025 1,015 680
=l 492 272 220 03 1,188 594 1,188 594
& 1,495 521 974| 027 1,080 432 1,080 378
KI5 2,905 790 2115 025 810 540 810 410
REAR 3,991 1,638 2,353 0.25 702 486 702 486
= 5 470 219 250 0.27 702 648 648 540
247100 [7—JLA A ¥ 527
E4m 408 153 255| 8.5 21, 000 15, 660 27,000 6,480
=40 119 60 60| 85 11,880 4,320 10,800 8,640
257100 [IEL#H a3 689
=25 92 15 77| 023 529 486 529 464
= 548 541 71 0.7 1, 620 1. 080 1,404
£ 49 14 35 0.7 3,024 3,132




SF34E12 A 27H (HHER)

F A R RS T S (AE5) BHE H

R EIbng e = 17.3 %
(S I E B B )
A . EN7EH (kg o wh5E RIS
2 4 — — filik HLAL - — — — —
AH wY5E RIS FEM AR ()| ZefiE(M) PEH EAE(D) | () | ZefE(M)

101 |RSK-0 193 24 169 Kg |& 1,620 162|711 3,780 324
102 |FHEI-) 3,472 3,472 Kg B+ 2 2,927 324
111 [ ED 516 54 462 Kg [ERE 702 324 = - )1 1,512 216
113 [ RROLD 18 8 10 Kg | 1,944 216] e 2,484 2,376
114 |5 -H 201 22 179 Kg [ERE 1,404 B[ 2,592 540
117 [i3% 1 1 Kg Lo 3,622

121 [7bixE 260 37 223 Kg |&fE 1,404 27075 1,944 432
134 |[7=Z 452 277 175 Kg [E=k 2,808 1,620 =% 2,700 1,080
137 |FHSS 1,197 171 1,026 Kg [FHL 3,888 2,916[ 51 6,231 972
138 |AR7pEZ 118 118 Kg = 3,240 2,160
140 [5iC 6 6 Kg E[RES 48,600 34,200
147 |EHZ O 170 170 Kg T R INE] 10,800 7,000
158 [N AED 947 124 823 Kg [fE&E 1,296 540 & IR} 2,214 1,080
201 |Vl 378 378 Kg = 270 144
203 |/hHL 32 32 Kg (e 270 189
205 [AHT 60 60 Kg KRy 440

206 |1 585 585 Kg T3 972 432
207 |&AE 4 4 Kg Aty 1,080

208 [0k 109 109 Kg R 2,376 1,058
212 |BHESD 2,264 2,264 Kg RV - &)1 2,160 1,134
222 |OBZ 4 4 Kg () 405

251 |[KAFESA 917 917 Kg FE T 3,834 2,538
252 |WALESA 379 173 206 Kg  |#% 3,024 2,592|m 7 7,458 1,728
254  |[&HIEESAH 2,154 2,154 Kg 7 3,175 1,058
303 [FLAZi2wn 435 36 399 Kg [ILA 468 432| Ky - B AR 756 300
306 [WEXDh 15 15 Kg [SiR 582

319 [=b5 921 17 904 Kg |f& 1,512 )1 FnEk L 1,944 1,000
332 |1 EA BPE 503 503 Kg E|RES 1,728 1,458
351 |[£EH 128 5 123 Kg |&E 8,316 RIK 30,240 3,888
354  [1ZFEH 116 45 71 Kg [T 1,620 1,404 = 4,104 972
355 [HVY 180 15 165 Kg |fE 756 324 |REA - 50 1,188 500
356 [LUA 35 35 Kg R 1,080 810
357 |RHE 73 73 Kg HEE[E] 1,728 990
358 | KE 10 10 Kg B 1,620

362 [7x 400 400 Kg frJE 3,240 648
402 |H7pE 24 24 Kg R 4,752 3,348




PO T FR YL ISR T (AN Y) B H
SR3E12 A 27H (HWER)

sk BReEE: 13 R CHfif B 5 )

s B R ) ke R P

S0 L A s Fa B FEHE e fECFD [ (P | Z2fE (M) - JE 1 rfE () #1{15(237)4 Z2fE(M)
504 [WEHELAI VD 27 27l Kg T= 1,200 850
512 [mEa i 40 101 Ke EBiREIRE 5,400 1,026
523 |/l A O° 500 500f Kg T 2,880

524 | BALEA 6 6] Ke T 950 861
558 | A 39 39 Eg EREI 1515 840
560 |iRi-— 373 373 g T 9,288 3,240
566 [N 280 280) Kg :




PO T FR YL ISR T (AN Y) B H
SR3E12 A 27H (HWER)

T EIbng e = 0.9 %
(S I E B B )

0 EN7EH (kg wh5E ERSENE]
o i L i o —— — - T -

AH wY5E RIS FEM AR ()| ZefiE(M) PEH EAE(D) | () | ZefE(M)
701 |[BVDHA 279 279 Kg frJE 1,987 648
710 |95 HIF 10 10 Kg Koy 702
754 |BASAE 7 7 Kg JeviE 1,519
755 [BEHL 64 64 Kg gy 1,107 626
761 [BodAEE 60 6 54 Kg |&fE 1,389 1,319 fe e - Fsfk (L 2,484 750
763 [EINIC 43 43 Kg |&fE 7,097 6,480
801 [HALE1T 114 114]  Kg Fg 7 - ALEE 1,944 1,058
802 |HE1F 10 10 Kg JbifEE 972
805 [T 166 166 Kg BIRES 864 367
807 [Hikko 1 25 25 Kg EIRES 6,588 4,104
810 [B K+ 152 152 Kg BIRES 3,456 1,188




